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1. F#EER (84 : %)
B SH3FEE SH4FE j

WEERSMN®E 0.16 0.15 A 0.01

MEERD M B =X 3.44 3.34 A 0.10

b I T N g 0.14 0.13 A 0.01

i & E S OHA A A m =R 3.00 2.86 A0.14

(E) 1. HEERBNRE=REFE HEE (BHRIIREER) Fi%ES %100
2. MEEREN@ER=RENn MEEHEFIIES X 100
3. HEEIPNAEER=S0FRE R5R) TMEE (BHRIREZHR<) Fi95%E X 100
4. FIEELSHMANGEE=UIMFRE Ro1B)  MEERETIHES X100

2. BPEE .« BPEEER (84T : %)
S 3EE sS4 FE p
=1 = 10.20 10.34 0.14
B & =X
Hj ch 3£ 15 9.56 9.69 0.13
- L HA >x 29.29 29.08 A 0.21
fr EE X
5 b 15 2714 29.73 2.59
GE)1.BPE® (H5F) =EHERS B X 100
2. BFEXR (Hich1) =EHEF9% e,/ IreFi95% e X 100
3.BTEER (HAR) =Bl e . iITei%a X 100
4 BFEEER (HfohiE1Y) =BfisFiEe, IreFig5aE X 100





